This week we are recapping on 2D and 3D shapes.

LO: To calculate angles in polygons (bronze)
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Work out the sum of the angles in each shope.
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Whaot do you notice?

The sum of the interior angles of a triangle is 180°.

Split the polygons into triangles to work out the sum of their

interior angles. Your lines should not overlap.
The first one has been done for you.

a) number of sides =
number of triangles =
3 x 180 =

The sum of the interior angles of a pentagon is

b) number of sides =

number of triangles =

x 180 =

The sum of the interior angles of a hexagon is

) number of sides =

number of triangles =

x 180 =

The sum of the interior angles of a heptagon is

540

540°

The diograms show the four vertices of o quadriloteral arranged
around a point.

What do the diagrams illustrate about the sum of the angles in
a quadrilateral?

Complete the sentence,

Angles in o quadrilateral
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Work out the size of the unknown angle in each trapezium.

a) b)

63"

o] [ ]

¢} What is the same and what is different about the tropeziums?




This week we are recapping on 2D and 3D shapes.

LO: To calculate angles in polygons (silver)

The cliagroarmsy shorey he foier vertices ol a guadriliiteial oringed
mand a it
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Whaat dhix the dingaer ilhinrete clhos The dam of the angles in
o quasdrdaternl?

Camplote the sertence.
Argles i o quadriateral

The sum of the interior ongles of o triongle = 1807

Split the palygens into trionghes 1o work aut the sum of their
imtersor anghes, Your lines should net overlap,

The first one has been done for gou.
al

murnber of sides = L

murnber af triangles = 3

The sum of the interior ongles of o pentagon i:

(1] number of sides = |:I
msmber of triongles = |:I

The swm of the interior angles of o hexagon is

5 120° Y

Waork out the sizes of the unknossn ongle

th 'Whit to you notioe aboat oppasite angles in o parallelagrom?

Comgplete the table,
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Twpar isosceles trinngles are joired 1o form o Kite
o) ‘Wark ot 1he 2 af the wnkn s angles.
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This week we are recapping on 2D and 3D shapes.

LO: To calculate angles in polygons (gold)

1. Calculate the missing angles on the shape below
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ST TR RREE TN MR g 3 | Each compound shape is made up of regular polygons.

Wark out ongle v in each cose.
o) d)

4. Two rhombuses together will make a rectangle. True or false? Why?



